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1. Interaction in an experimental design can be tested in
a) a completely randomized model.
b) a randomized block model.
c) a two-factor model.
d) all ANOVA models.

2. In testing a hypothesis using the 7° test, the theoretical frequencies are based on the
a) null hypothesis.
b) alternative hypothesis.
c¢) normal distribution.
d) none of the above.
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3. A computer used by a 24-hour banking service is supposed to randomly assign each transaction to
one of 5 memory locations. A check at the end of a day’s transactions gave the counts shown in the
table to each of the 5 memory locations, along with the number of reported errors.

Memory Location: 1 2 3 4 5
Number of Transactions: 82 100 74 92 102
Number of Reported 11 12 6 9 10
Errors:

The bank manager wanted to test whether the proportion of errors in transactions assigned to each of
the 5 memory locations differ. Which test would be used to properly analyze the data in this

experiment?
a) test for independence

b) test for difference between proportions
c) ANOVA F test for main treatment effect

d) test for goodness of fit

4. What do we mean when we say that a simple linear regression model is “statistically” useful?
a) All the statistics computed from the sample make sense.

b) The model is an excellent predictor of Y.

c¢) The model is “practically” useful for predicting Y.

d) The model is a better predictor of Y than the sample mean, Y .

5. The Variance Inflationary Factor (VIF) measures the
a) correlation of the X variables with the Y variable.
b) correlation of the X variables with each other.
¢) contribution of each X variable with the Y variable after all other X variables are included in the

model.
d) standard deviation of the slope.
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